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To begin, we must understand what the white man's world uses as 3

theorum or equation for one complete day.

For one complete day, the white man uses 86,400 seconds in one day
while the American Indian uses 432,000 units of time without light, which
now causes a problem because the white world considers time by Sun Light
that takes alittle longer than the Indian &¥stem.

I believe it was JULTUS CAFSAR, whe I consider to be the hest Antiquist
or Anthropologist that ever lived whao did not want to work with huge or
large mathematical figures, concluded according to trihal systemz on how
the number of dayve in their calendar for one ®zd, to have a theorum on the
breakdown of ane day.

He concluded that the 181 uwnits for one day brokendown from the whole
432.000 units, could be broken down still further by calling each of these
units an Atom. 181 divide by IZunits per atom= 151775 atoms or —

15.08333 units for one complete day,

To me, from all referesnces in existance, he becams the first individual
using tribal records was able to calculate the speed af Light.

Now the reason his findings were never used and Einstein's was, ia
WaEs because Caesar's caleulations gave away certain metaphysical and
oocult concepts from tribal gecrets to spiritual powars.

What he calculated, if known by any tribal member, is 437,000 divide
200 = 2160 divide 12 = 180 unitse of time without light. Tt took timz the
other 1 unit for the light from the Sun Eo appear, which hacd to he the spasc
of Light.

However, Caesar had a number of scientist and scholars murdered for
not being able ko calculate why it took 4.4 of these units to pass before
the human eye wouid be able to see tha Planet JUPITER. The calculations
of his scientist and scholars kept coming up with over 9 af these Tits.

This event in his historicail records shows he had oot transilated anough
of the tribal records in his possession, te coloulabe. the gieed of time.

This would have given Einskein his theorum on REALITY.

Let me now show why a Theorum does not exiszt on the theory to the
speed of light.

Don't try to use the one on Radar hecause T know what the ocutcome will

be on this concept.
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To begin, we must understand what the white marl's world uses as a theorum or equation for one complete day. For one complete
day, the white man uses 86,400 seconds in one day while the American Indian uses 432,000 units of time without lightB which
now causes problem because the white world considers time by Sun Light that takes alittle longer than the Indian system.

1 believe it was JULIUS CAESAR, who I consider to be the best Antiquiet or Anthropologist that ever lived who did
not want to work with huge or large mathematical. figures, concluded according to tribal systems ou how the number of days in
their calendar for one to have a theorum on the breakdown of one day.

He concluded that the 181 units for one day brokendown from the whole 432,000 units , could be broken down still
further by calling each of these units an Atom. 181 divide by liunits per ato1n= atoms or - 15.08333 units for one complete day.

To me, from all references in existence, he became the first individual using tribal records was able to calculate the
speed of Light.

Now the reason his findings were never used and Einstein's was, is was because Caesar's calculations gave away
certain metaphysical and occult concepts from tribal secrets to spiritual powers .

what he calculated, if known by any tribal member, is 432 ,000 divide 200 = 2160 divide 12 = 180 units of time
without light. It took time the other I unit for the light from the Sun to appear, which hac? to he the speed of Light.

However, Caesar had a number of scientist and scholars murdered for not being able to calculate why it took 4.4 of
these units to pass before the human eye would be able to see the Planet JUPITER. The calculations of his scientist and scholars
kept coming up with over 9 of these Units.

This event in his historical records shows he hachnot translated enough

of the tribal records in his possession, to of time.

This would have given Einstein his theorum on REALITY. Let me now show why a Theorum does not exist on the theory to the
speed of light.

Don‘t try to use the one on Radar because I I-:now what the outcome will

be on this concept.



